




Are you fond of 
shopping?





$ 2.35 $ 10 $ 11.15

10 + 2.35 = $12.35

15.80 - 12.35 = $3.45



a pair of jeans

a shirt.$ 14.45
$ 20.25

$ 24.30

20.25 + 24.30 = $44.55

50.50 + 44.55 = $5.95



I have fifty dollars and ten cents.
I want to buy a teddy bear
(ten dollars and thirty cents) 
and a toy car(three dollars 
and six cents).

Write the operations to find
out how much I will spend
and how much the change will be.

10.30 + 3.06 = $13.36 ( the money I will spend) 

50.10 - 13.36 = $36.74  (the change)



I have fourteen dollars and five cents.
I want to buy a stapler
(3 dollars and 3 cents) 
and 3 pens (each one: 50 cents)
and scissors (4 dollars and 13 cents).

Write the operations to find
out how much I will spend
and how much the change will be.

3.03+ (3*50) + 4.13= $8.66 ( the money I will spend) 

15.05 - 13.36 = $1.69 (the change)



$ 35.50

$ 40.00

$44.50
I spent $80.

35.50 + 44.50= 80



$ 34.00

$ 16.00

$ 23.00

I spent $50.
16 + 34= 50




